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QUESTION 1
You are building a web application with a scheduling component. On the JSP, you need to show the current date, the
date of the previous week, and the date of the next week. To help you present this information, you have created the

following EL functions in the \\'d\\' namespace:

name: curDate; signature: java.util.Date currentDate() name: addWeek; signature: java.util. Date addWeek
(java.util.Date, int) name: dateString; signature: java.util.String getDateString(java.util. Date)

Which EL code snippet will generate the string for the previous week?
A. ${d:dateString(addWeek(curDate(), -1))}

B. ${d:dateString[addWeek[curDate[], -1][}

C. ${d:dateString[d:addWeek[d:curDate[], -1][}

D. ${d:dateString(d:addWeek(d:curDate(), -1))}

Correct Answer: D

QUESTION 2

You need to create a JSP that generates some JavaScript code to populate an array of strings used on the client-side.
Which JSP code snippet will create this array?

A. MY_ARRAY = new Array();

B. MY_ARRAY = new Array();

C. MY_ARRAY = new Array();MY_ARRAYT] = \\'\\};

D. MY_ARRAY = new Array();MY_ARRAYI[$ {i}] = \'${serverArray[i]}\\;

Correct Answer: C

QUESTION 3

Which element of the web application deployment descriptor defines the servlet class associated with a servlet
instance?

A.

B.
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F.

Correct Answer: E

QUESTION 4

A developer wants a web application to be notified when the application is about to be shut down. Which two actions are
necessary to accomplish this goal? (Choose two.)

A. include a listener directive in a JSP page

B. configure a listener in the TLD file using the element

C. include a element in the web application deployment descriptor

D. configure a listener in the application deployment descriptor, using the element

E. include a class implementing ServletContextListener as part of the web application deployment

F. include a class implementing ContextDestroyedListener as part of the web application deployment
G. include a class implementing HttpSessionAttributeListener as part of the web application deployment

Correct Answer: DE

QUESTION 5

Which interface must a session attribute implement if it needs to be notified when a web container persists a session?
A. javax.servlet.http.HttpSessionListener

B. javax.servlet.http.HttpSessionBindingListener

C. javax.servlet.http.HttpSessionAttributeListener

D. javax.servlet.http.HttpSessionActivationListener

Correct Answer: D
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